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Present liability of uncertain amount,
which can be measured reliably by
using a substantial degree of
estimation is termed as

(1) Provision

2) Liability

(3) Contingent Liability

(4) Deferred Liability

A Bank Reconciliation Statement is a
(1) Part of Cash Book

(2) Part of Bank Account

(3) Part of Financial Statement

(4) None of these

A Bank Reconciliation Statement is

prepared with the help of

(1) Pass Book and Bank column of
Cash Book.

(2) Pass Book and Cash column of
Cash Book.

(3) Cash column of Cash Book and
Bank column of Cash Book.

(4) None of these

Opening Stock =¥ 3.,00,000,

Sales =¥ {5,00,000,

Gross Profit = 25% on cost,

Total Purchase =3 18,00.000

Closing Stock shall'be

@) 00 (2) % 6,00,000

3) ¥9.00,000 (4) %9,75,000

Which of the following errors will be
revealed by the Trial Balance ?

(1) Compensating Errors

(2) Errors of Commission

(3) Errors of Omission

(4) Errors of Principle

< 1,000 paid for repair of old furniture
purchased. shall be debited to

(1) Furniture Account

(2) Repairs Account

(3) Cash Account

(4) Profit and Loss Account
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Find the correct statement.

(1) Trial Balance is an account.

(2) Trial Balance is a list of personal
and real accounts balances.

(3) Trial Balance is not an abstract
statement of Ledgers.

(4) Trial Balance reveal mathematical
accuracy of Ledgers.

Which of the following statement is

correct 7

(1) Provision for depreciation is at the
choice of management.

(2) Depreciation can be charged only
when there are profits.

(3) Depreciation is a charge against

rofits.

(4) Depreciation is an appropriation

of profits.

Which of the following expenses is not

included in the acquisition cost of a

plant and equipment ?

(1) Cost of site preparation.

(2) Financing costs incurred after
plant and equipment is put to use.

(3) Delivery and handling charges.

(4) Installation costs.

Obsolescence of a depreciable assets
may be caused by

I.. Technological changes.
II. Improvement in production method.

11, Change in market demand for the
product or service.

IV. Legal or other restrictions.

(1) Only I above —

(2) AllL IL, IIT and IV abov
(3) Only III above
(4) Only IV above

~ State the correct statement with regard

to Receipt and Payment Account in a

Business House.

(1) It’s preparation is not compulsory.

(2) It is a nominal account.

(3) It is necessary to prepare to know
profit or loss.

(4) It’'s balance reveals surplus or
deficit.
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Balances of Opening debtors ¥ 43,000,
Closing debtors T 60,000, Receipts from -
debtors during the year. ¥ 1,00,000,
Opening provision for bad and doubtful
debts ¥ 3,000 and Closing provision for
bad and doubtful debts is ¥ 5,000. Find
the amount of credit sales.

(1) 88,000 (2) ¥90.000
(3) 1,12,000 (4) ¥ 58.000

If Cost of goods sold is T 26,000,
Opening stock is ¥ 2.400, Sales is
Z 30,000, Gross Profit is ¥ 4,000, and
Closing Stock is ¥ 1.600, then find the
amount of purchase.
(1) ¥22,000

(3) 26,800

(2) T29,200
(4) 25,200

X and Y are partners sharing proﬁt. &
loss in the ratio of 5 : 3. They admitted
Z giving him 3/10" share of profit. If Z
acquires 1/5" share from X and 1/10"
share from Y. Calculate new profit
sharing ratio.

B : 3 (2)
(3) 20Es 6 (4)

17:11:12
18:24:38

C was admitted in a firm with 1/4"
share of the profitsi of the firm: C
contributes ¥ 30,000 as his capital. A
and B-are existing partners with profit
sharing ratio of 3 : 2. Find the required
capital of A and B, if capital should be
in profit sharing ratio taking C’s
capital as base capital.

(1) ¥ 54000 and I 32,000
respectively for A and B.

(2) ¥ 54000  and < 36,000
respectively for A and B.

3) T 64000 and < 42,000
respectively for A and B.

(4) ¥ 62,000 and < 52,000

respectively for A and B.
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In the absence of an agreement,
partners are entitle for

(1) Interest on Loans

(2) Salary

(3) Commission

(4) Share of Profit in Capital ratio

At the time of retirement of a partner,
firm gets from the insurance
company against the Joint Life Policy
taken jointly for all the partners.

(1) Amount of policy
(2) Surrender value

(3) Policy value for the retiring
partner and surrender value for
remaining partners.

(4) Surrender retiring
partner and policy value for
remaining partners.

value for

Calculate the amount of claim, if
average applicable in
following case : -

Value of policy — < 70.000

Stock on the date of fire — T 80,000
Stock salvaged — X 21,600

(1) % 80,000 |

(2) T58,400

(3) ¥51,100

(4) 748,400

clause is

Which of the following is not related
to consequential loss insurance ?

(1) Loss of Net Profit

(2) Loss-of Standing Expenses
(3) Stock Salvaged

(4) Short Sales
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The determination of expenses for an
Accounting period is based on the
principle of

(1) Objectivity
(3) Periodicity

(2) Materiality
(4) Matching
Which of the following is not a
business transaction ?

(1) Payment of ¥ 5,000 as salary to
employees.

(2) Appointment of Mrs. Usha as
typist on a salary of ¥ 5,000 per
month (for personal work).

(3) Payment of ¥ 5,000 out of
business bank account for school
fees of child.

(4) Salary unpaid ¥ 5,000 at the end
of the year.

The expression of not to sale business

in near future is included in the

(1) Entity concept

(2) Conservatism concept

(3) Accrual concept

(4) Going concern concept

Recognition of revenue and expenses
on time basis is done as per

(1) Entity concept
(2) Cost concept
(3) Materiality concept
(4) None of these

Account to be credited on donation of
goods '

(1) Purchase Account
(2) Sales Account
(3) Cash Account
(4) Donation Account

After preparing the trial balance, the

accountant finds that the total of debit

side is short by ¥ 1,500. This

difference will be

(1) Credited to Suspense Account

(2) Debited to Suspense Account

(3) Adjusted to any of the Debit
Balance Account

(4) Adjusted to any of the Credit
Balance Account.
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Advertisements directed from

one
business to other business are known as
(1) retail advertisements

(2) trade advertisements

(3) consumer advertisements

(4) display advertisements

State Commission established under
the Cons Protection Act
entertain complaints where the value of

umer can
goods or services and compensation is
(1) 3iakhsto | crore
(2) 10 lakhs to 2 crores
(3) 20 lakhs to'l crore

(4) 50 lakhs to 2 crores

An effective recruitinent and selection

process will always ensure

(1) Offsetting high labour turnover.

(2) Delivering highest calibre of
individuals at optimum cost.

(3) Having a surplus in case of
sickness and absence.

(4) Encouraging new blood into the
Oreanisation.

Who prnpoimdc(i the

principles of co-ordination ?

following

i Principle.of Early stage

ii.  Principle of Continuity

ii1. Prinuiﬁ}c of Direct contact

v, Prim*iplc of Reciprocal relations
Choose the right answer.

(1) Mary Parker Follet

(2) Henry Fayol

(3) F.W. Tavlor

(4) William Ouchi
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Co-ordination between - the
departmental heads, supervisors and
co-workers is known as

(1) Horizontal co-ordination

(2) Vertical co-ordination

(3) Management co-ordination

(4) Staff co-ordination

Advertising is a  powerful
communication force, and it is also an
important activity of

(1) Promotion Mix

(2) Promotion Controls

(3) Promotion Group

(4) Promotion Channel

Which one of the following is an
attempt to eliminate unfair trade
practices such as spurious products,
adultration, and deceptive-pricing etc. ?
(1) Protectionism

(2) Consumerism

3) Grolips of consumers

(4) Consumers’ guidance

“The customer is the most important
visitor on our premises.” It was said by
(1) Phillip Kotlar

(2) ‘Nicholas, Candiff and Steel

(3) Pt.Jawaharlal Nehru

(4) Mahatma Gandhi

Who did spell out the consumer rights

in the year 1962 ?

(1) The Ex-President of India Dr.

. Rajendra Prasad.

(2) The Ex-Prime Minister of India
Smt. Indira Gandhi.

(3) The Ex-President of America Mr.
John F. Kennedy.

(4) Shri Rahul Bajaj of India.

02


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

35.

36.

37,

38.

39.

02

fo=r & & W o 1 A AT :

(1) “argerme 3 g & o8 Fanror s
€ 1 g% U geeg, SR g el A |

(2) FRRHE-SEEAET | WSS e %
FAgT=T ST Y01 &l & =fed |

(3) T WAT TF SR HHART T
AR AR SRR %
A & © |

(4)ﬁgwammﬁmaammﬂﬁ=m
HROT BT |

‘AT T e B AR SERTEE % FEE
T IEATH H S ST IS Al
(1) =T R A -

(2) WA

(3) & A

(4) AT A

TS o 2 € S fosk T €
(1) |&R & FarEr adn e 1%
(2) TEI I ST W

(3) TTATERT & HEH W

(4) TE & 9RH

HITE

(a) erdt STy fasrg & & & ¢ |

(b) %ﬁﬁ?—wﬂ’m@tﬂﬁﬁmaﬁqﬁ
|

a7 Fret & @ 5 AT % AR | Wel e

I ;

(1) (a) 3R (b) T T & |

(2) (a) 3R (b) SHT el 7@ & |

(3) I () Wl & |

(4) oA (b) TEE |

SEae o & aiq &1 R stfyesad
R aier | S &

(1) wer =1 Fism %

(2) VY gRT oI SR

(3) W T for wE

(4) v o feT Y -

35.

36.

37.

38.

39.

GET IT ON
Google Play

Select the correct statement from the

following :

(1) “Discipline is what the leaders make
it.” It was said by F.W. Taylor.

(2) In disciplinary procedures, the
principle of natural justice should
not be followed.

(3) To some extent, disciplined-
employees and self-disciplined
workers are the substitutes for
motivation.

(4) Dexterous
indiscipline.

supervision  causes

“The analogy between touching a red
hot stove and violating rules of
discipline” was suggested by

(1) Douglas McGregor

(2) Sherwood

(3) Henry Fayol

(4) Etzjioni

Drone entrepreneurs are those who

live on the

(1) Innovation and new ideas of the
Government.

(2) Victory of others.

(3) Environmental factors.

(4) Labour of others.

The statements are :

(a) Entrepreneurs sow the seeds of
industrial development. '

(b) Entrepreneurs do not create value
continuously.

Now; make a correct choice from the
following regarding these statements :

(1) Both (a) and (b) are correct.

(2) Both (a) and (b) are not correct.
(3) Only (a) is correct.

(4) Only (b) is correct.

To determine the source of business
finance in the most economical way 1s

(1) The planning function  of
management.

(2) The capital budgeting by
management.

(3) The finance function of management.
(4) The investment function of
management.
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According to Keith Davis, which one
is not a barrier of communication ?

(1) Physical Barriers

(2) Technological Barriers

(3) Personal Barriers

(4) Linguistic Barriers

Which of the following is an objective
of employee discipline ?

(1) Goal accomplishment.

(2) Changing employee behaviour.
(3) Promoting industrial relations.

(4)  All of these

Under progressive or corrective
discipline, the normal sequence of
actions taken by management in
disciplining an employee would be

(1) Oral warning, written warning,

suspension and discharge.

(2) Oral warning, suspension, in
depth investigation, discharge.
Written  warning,  suspension,
investigation, discharge.

Oral warning, suspension, written
warning, discharge. '

(3)
(4)

Negotiable Instrument  Act

introduced in
(1) 1882
(3) 1957

was

) 1881
@) 1950

Complaint removing agency as perthe
Consumer Protection Act is

(1) District Consumer Forum

(2) State Commission

(3) National Commission

(4) All of these

What is the maximum number of
partners in the partnership of Banking
Business 7
(1) 10

(3) 20

(2) 30
(4) 40
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Which moral philosophy seeks the
greatest good for the greatest number
of people ?

(1) Consequentialism

(2) Utilitarianism

(3) Egoism

(4) Ethical formalism

The concept of social responsibility of
business is rational because of

A. Professional Management

B. New Social Consciousness

C. Legal Statutes

D. Protection of its own existence
Choose the right answer.

(1) A and B above

(2) B and C above

(3) A and C above

(4) All of these

A retiring partner continues to be
liable for obligations incurred after his
retirement.
(1) If unpaid amount is transferred to
his loan account.
(2) If he does not give public notice.
(3) If he starts a similar business
elsewhere.
(4) In all the
survives.

situations. till he

Which of the following refer to Bill of

Exchange ? :

i.  The maker is the debtor.

ii. The liability of the drawer is
* secondary and conditional.

iii. An unconditional order to pay.

Correct answer is

(1) iandii
(3) 1iandiii

(2) iiandiii
(4) onlyi

A/An is a professional money
manager who makes risk investment

. from a pool of equity capital to obtain

a high rate of return on investments.
(1) Venture capitalist (2) Entrepreneur
(3) Businessman (4) Buyer

' a
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Out of the following which statement
is false ?

(1) The opinion of the auditor assures
the owners about the reliability of
the financial statements.

Bank will place greater reliance
on financial statements, if they
have been audited.

Trade creditors do not rely on
financial audit.

The need for financial audit arises
as the control of the company is
vested in the hands of the
management of the company.

(2)

3)
)

Who will be responsible for errors in

- report, if Statutory Auditor relies on

the work of Internal Auditors ?
(1) Statutory Auditor

(2) Internal Auditor

(3) Management

(4) Shareholders

Rights and Duties of an Auditor is’
covered under - of the
Companies Act, 2013.

(1) Section 138  (2) Section 139
(3) Section 141 (4) Section 143

Under which section of Companies Act,
2013 appointment and reappointment of
an Auditor by Controller and
Accountant General will be done ?

(1) Section 138  (2) Section 139
(3)Section 140 (4)..Section 141

Every Auditor has to comply with
auditing standards as per Section
of the Companies Act, 2013.

(1) 143(9)

(2) 143(2)

3) 144

(4) None of these

The end product of every Statutory
Auditor is

(1)
(2)

Auditor’s Note Book.

Auditor’s Report

(3) Auditor’s Work Papers

(4) Documents of the Auditor used to
examine

Demerit of Audit Programme is

(1) Rigidity

(2) Ignoring new areas

(3) Mechanized work

(4) All of these
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Verification of Asset includes
(1) Existence -
(2) Ownership and Title

(3) Valuation and Charge

(4) All of these

If any auditor does not comply with
the provisions of Section 143 (12), he
is punishable with fine of not less than
T 1,00,000, but extending to

(2) 25,00,000
(3) ¥15,00,000 (4) ¥ 10,00,000

What is the maximum limit of
companies for an individual auditor to

audit- under Section 141(3)(g) of
Companies Act, 2013 ?

(1) 10 2) 15

(3) 20 (4) No limit

Generally audit is conducted for the
period of

(1) one year

(2) two years

(3) three years

(4) uncertain period

“An audit is the independent

examination of financial information

of an entity, whether profit oriented or

not, and irrespective of its size or legal

form, when such an examination is

conducted with a view to expressing

an opinion thereon.”

This definition of audit is given by

(1) International Auditing and Assurance
Standard Board (IAASB)

(2) Spicer and Pegler

(3) Lawrence Dicksee

(4) J.R. Batliboi

The Principal ~ Auditor, as per
clarification issued by the ICAI, does

- not have any right to

(1

(2)
3)

)

Inspect working papers of the
Branch Auditor.

Inspection of Branches.

Seek information necessary for
Audit purposes.

Incorporate the Branch Audit
Report in his Audit Report.
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Auditing means

(1) To prepare Books of Accounts.
(2) To prepare Trial Balance.

(3) To make adjustments in accounts.
(4) To examine accounting books.

The word “Auditing” is derived from
the word “Audire”.

(1) Latin

(2) Greek

(3) French

(4) None of these

One of the following is not an
advantage of audit :

(1) It provides satisfaction for owner.
(2) It helps in getting loans.

(3) Itreduces cost burden.

(4) It detects errors and frauds.

A Statutory Auditor has a right of

examining at any time to

(1) Books and accounts of the company.

(2) Books, accounts and documents
of the company.

(3) Account Books, documents and
vouchers of the company.

(4) Notices and documents of the
company.

Whether the. management can restrict the
scope of work of Statutory Auditor ?

(1) In some cases.

(2)..If shareholders permit.

(3) Yes

(4) No

Which of the following statement is
not true about continuous audit ?
(1) Itis conducted at regular interval.

(2) It may be carried out on daily
basis.

(3) It is needed when the organization
has a good internal control system.

(4) Itis expensive.
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To which country India’s export was
the highest in the year 2014-15 ?

(1) United States of America (U.S.A.)
(2) Russia '

(3) China

(4) U.A.E. (United Arab Emirates)

Which of the following price index has

been adopted by Reserve Bank of

India as the key measure of inflation

for multi-policy purposes in India ?

(1) Wholesale Price Index Number

(2) Consumer Price Index Number
for Industrial workers.

.Consumer Price Index Number
for Agricultural labourers.

Consumer Price Index combined

3)
)

Which of the following institute
provide long term credit to the farmers
under co-operative credit structure in
India ?

(1) Primary @Land Development
Banks

(2) Primary  Agricultural  Credit
Societies

(3) State Co-operative Banks

(4) Central Co-operative Banks
According to NSSO 70" round data,
which of the following statement is
correct regarding agricultural credit in
India ?

(1) Local money-lenders account for
almost 40 percent share of total

agricultural credit.

(2)

50 percent of the funds of farmers
still come from informal sources.

3)

40 percent of the funds of farmers
still came from informal sources.

There has been a decline in the
institutional credit to farmers.

4)

02


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

80. = FHeHl W & ST -

81.

82.

02

)

HAT (A) : 9RA H 2011-12 & 9 G5
SIS T A (W e 3w) §
T 9 TEg &7 § wher GSf Frroy
T At fewar fimr &

HAT (B) : HIY &7 ¥ "ol Yl oy
3R HT W] IR F RS T
AU H HRU WEHER &8F F
fatmar g gg it & |

SRR | | I qT HIT T E 0

(1) Heet o9 (A) T & |

(2) . et 9T (B) T & |

(3) (A)T(B) S FuT T T | _

(4) 7 AT (A) 3R T & T (B) TE
T

3 ,

(1) sg faoeit ottt & @

‘FRIER A T AT ) FemEr

i fewmrd | _

IRT | fagel weaer fafranm sz =i

I |

URE H e, o AR Teqq gafya

# 8 FRER @ 9 EEr S

FeTam &1 % o1 |

T, Y T ey SufEl. $f |/R

0T lereme & 3 forr |

o or oty F gh R e
3Ry Feend e ° w1 o v

(2)

4)

tiwmfeR s it sma

HROT TR 81 € 2

(1) ¥R H STt HETET 1 BH T g |
(2) Tqut femRor s |

(3) HHIUE &3 1 TR formr |

(4) Fafem s =1 =1 s swE |

17

GET IT ON
Google Play

80. Consider the following statements :

81.

82. .

(2)

Statement (A) : The percentage share
of gross capital formation in
agriculture and allied sector in the
Gross Value Added (GDP) has
declined after 2011-12 in India.

Statement (B) : The declining gross
capital formation to GDP ratio in
agriculture can be attributed to the
decline in  public  sector
investments.

Which of the above statement is/are

correct ? '

(1) Only statement (A) is correct.

(2) Only statement (B) is correct.

(3) Both statements (A) and (B) are
correct.
(4) Neither statement (A) nor

statement (B) is correct.

Udyog Aadhar Memorandum Scheme
is a path breaking step

(1)

to promote ease of doing business
for big Foreign investors.

to promote FDI in India.

(3) to promote ease of doing business
for Micro, Small and Medium

enterprises in India.
(4) to provide liberal credit facilities
to MSME sector.

There is substantial gap between |
irrigation potential created and the
irrigation potentiat utilised during the

plan period in India. Which of the

following reason is not. responsible for

this situation ?

(I) Lack of water resources
drought in India.

(2) Incomplete distribution system.

(3) Non-completion of command area

(4)

and

development.
Diversion of irrigated land for
other purposes.
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What 18 contribution . of

manufacturing sector at 2011-12 prices

the

to the total value addition in the Indian
economy in recent years ?

(1) About 17 percent

~(2) About 32 percent,

(3) About 25 percent
(4) About 36 percent

Government announced India’s new
Foreign Trade Policy for the period
2015-20, with the aim of

(1) to increase India’s exports to US
$ 600 billion by 2019-20.

to increase India’s exports to US
$ 900 billion by 2019-20.

to increase India’s exports to US
$ 1000 billion by 2019-20.

to increase India’s exports to US

$ 1500 billion by 2019-20.

(2)
(3)

“

A new Foreign Trade Policy for the
period 2015-20 was announced on 1%
April; 2015 in India, with a focus on
(1) supporting services exports and
free exports-imports from India.
(2) supporting both manufacturing

and  services exports and
improving the ‘ease of doing
business’..

(3) supporting exports and import

substitution industries in India.

(4)

improving balance of trade in
favour of India.
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India’s merchandise exports have been

declining continuously since

December, 2014. The decline in

India’s exports owed to.

(1) Global demand of cheap
commodities.

"(2) Increase in Global Commodity.

prices particularly petroleum.

(3) Sluggish Global demand and low
global commodity prices.

(4) High prices and low quality of
Indian export goods.

Which of the following statement is
correct regarding National Income
Accounting ?

(1) National income is income earned
and Personal income is not
necessarily earned income.

(2) National income is income
received, but Personal income is
not necessarily received income.

(3) Both are earned income.
(4) Both are received income.

In which of the following State/Union
Territories the share of services in the
Gross  State Domestic Product is
maximum in India. ?

(1) Delhi

(2) Maharashtra
(3) Gujarat

(4) Tamil Nadu

Which of the following institutions
releases and compiles consumer price
index number for Rural, Urban and
Combined in India ?

(1) Labour Bureau, Shimla
(2) CSO, New Delhi

(3) NSSO

(4) Reserve Bank
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Which of the following fact/facts is/are
true for Rajasthan Budget 2014-15 ?

Fact 1. About 82 percent of total
expenditure was met from
revenue receipts.

Fact 2. Fiscal liability was about 24
percent of GSDP. '

Fact 3. Interest payment was around
11 percent of Revenue
expenditure.

Codes :

(1) Fact 1 and 2 are correct.
(2) Fact 1 and 3 are correct.
(3) Fact 2 and 3 are correct.
(4) Fact 1, 2 and 3 are correct.

Which of the following is not included

in the National Mission for Sustainable

Agriculture in Rajasthan ?

(1% Rainfed Area Development.

(2) Production and - distribution of
%uality seeds.

(3) Climate change and sustainable
agriculture.

(4) Soil health management.

What is the growth target under the
12" Five Year Plan for the industrial
sector in Rajasthan ?
(1) 10 percent
(3) 7 percent

(2) 8 percent
(4) 6 percent

‘Rajasthan Sampark Project’ has been

implemented in Rajasthan with the aim of

(1) to provide a single point of
contact to the citizens- to lodge
and track grievances.

(2) to provide a world class road

network in Rajasthan.

3)

to provide roads for all villages in
Rajasthan.

(4) to provide a single point of
contact to Pravasi Rajasthani.

‘What is the potential of electricity from

solar source in Rajasthan as per the

assessment of Ministry of New and

Renewable Energy, Government of India ?
(1) 25GW (2) 67GW
(3) 107 GW (4) 147GW
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What is the percentage of direct and
indirect taxes in the gross tax revenue
of India in 2014-15 ?

(1) 40:60 (2) 54:46

(3) 46:54 (4) 60:40

The share of service sector in total
employment in India in the year 2014
is

(1) 50%
3) 32.7%

2) 42%
(4) 28.7%

Bharatmala Programme is associated
with
(1)
(2)
(3)

(4)

Road Infrastructure Development in
India.

Development of Rail Infrastructure
in India.

Development of Telecommunic-
ation Sector in India.
Development of Civil Aviation
Industry in India.

With reference to the impact of
Globalisation on Indian Economy, the
Economic reforms were divided in two
parts. The first was ‘Stabilisation
Programme’ (SP) for

(1) Short-term period

(2) Mid-term period

(3) Long-term period

(4) Short and Long term period

When was the First Population Census
of India completed ?

(1) 1881 (2) 1891

(3) 1872 (4) 1901

To obtain full benefits of demographic
dividend, what should be done in our
country ?

(1) Reducing Infant Mortality Rate.
(2) Promoting Skill Development.

(3) Introducing more Social Security
Schemes.

Privatization of Higher Education.

(4)
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Which rule relates to suspension‘of
lien ?

(1) Rule 17 (2) Rule 18
(3) Rule 19 (4) Rule 20
How is leave earned ?

(1) By duty

(2) By the order of Head of Department
(3) By right

(4) As per the need

How many days (maximum) of
privilege leave can be kept in the
account of a government servant

during his total service period ?

(1) 365 days (2) 240 days

(3) 300 days (4) 15 days
‘Leave not due’ during the entire
period of service shall be limited up to
(1) 360 days (2) 90 days

(3) 180 days (4) 300 days

. With some other conditions ‘Child

Adoption Leave’ may be sanctioned
up to the limit of

(1) 90 days (2) 120 days
(3) 180 days (4) 240 days
Which Government servant shall not
earn any kind of leave during the
period of

(1) On probation

(2)_Probationer
(3) Probationer trainee

(4) None of these

Under which rule paternity leave of
15 days can be sanctioned to a male
probationer trainee?

(1) Rule 122°A and 103 A

(2) Rule 104 and 99

(3) Rule 94 and 93

(4) None of these

Cash payment in lieu of unutilised
privilege leave upon retirement is done
under
(1) Rule 91 (B)
(2) Rule 93 (i)
(3) Rule 93 (ii)
(4) All of these
02
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A Government servant takes leave on
conclusion of foreign service, his
reversion shall take effect from

(1) On the date on which he hands over
charge from the foreign service.
On the date on which he takes
charge of post in Government.

On such date as the Government
may decide. )
On such date as the foreign
employer may decide.

4)

During  foreign  service, which
contribution of Government employee
has to be given to the government by
the borrowing organisation ?

(1) Education cess

(2) Pension contribution

(3) Municipal contribution

(4) None of these

Which statement is correct ?

(1) Service Book shall not
returned on  retirement
Government servant.

A duplicate Service Book shall
not be provided on payment to
Government servant.

Interruption in service shall not be
recorded in Service Book.
Duplicate Service Book cannot be
used in any case.

be
to

@)

3)
4)

Which rule relates to general
conditions of exercise of delegation of
powers ?

(1) Rule165(A) and/(B)

(2), Rule 167

(3) Rule 165(A) and (B) & Rule 167
(4) None of these

Joining time is admissible to
employees under Rule 4 of Rajasthan
Civil Services (Joining Time) Rules,
1981. -
(1) Upon transfer to join at the new
place in public interest.

To travel with family on holiday.
Upon transfer on request.

All of these

(2)
3)
“)
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Rule 6(1) of Rajasthan Civil Services
(Joining Time) Rules, 1981 provides
for

(D
(2)

Additional
joining time.
Addition of unutilised period of
joining time in employee’s
privilege leave account.

(3) Lapse of joining time.

(4) None of these

allowance  during

During joining time, what is not
admissible to a Government Employee ?
(1) Salary

(2) House Rent Allowance

(3) Dearness Allowance

(4) Vehicle Allowance

When does the ‘joining time’ of a
Government employee begin ?

(1) Immediately after getting relieved
from the previous post.

From Monday.

First day of the month.

None of these

(2)
3)
4)

Under Rule 2(3) of Rajasthan Civil
Services (Joining Time) Rules 1981,
Time allowed to a Government servant
to join a new post or to travel to a new
posting station is called

(1) Travelling time

(2) ' Joining time

(3) Preparation time

(4) Vacation time

A--government.servant..after transfer
from awaiting posting order may awail
joining time to join a new post at
another station
(1) 12 days
(3) 15 days

(2) 4 days
(4) 10 days

Extention of joining time beyond the
limits indicated in Rule 5(4) can be
gramed upto the maximum limit of
0 days by -

(1) Admuinistrative Department

(2) Finance Department

(3) Head of the Department

(4) Head of the Office
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A Probationer is

(1) Anintern.

(2) A part time consultant.

(3) A person apgointe;d provisionally
against a substantive vacancy in
the cadre of a service or on a
substantively vacant post.

(4) None of these

Honorarium means

(1) - Personal pay

(2) Presumptive pay

(3) Special pay

(4) recurring or non-recurring payment
to a government servant in lieu of
additional work performed
occasionally or intermittently

In which rule of Rajasthan Service
Rules Volume-1 “age at first
appointment” is defined 7

(1) Rule 8A(1) (2) Rule9
(3) Rule 10 (4) Rule 11
Rule 9 of RSR relates to

(1) Change of name

(2) Medical certificate on appointment

(3) Date of Birth

(4) Lien

Which government employees are

exempted from furnishing Medical

Certificate ?

(1) A" Government Servant in

superior service appointed in a

temporary. vacancy of less than 3

months duration.

Those who have come through

competitive examination and gone -

through medical examination.

(3). . Those...employed. . soon.after
retirement.

(4) All of these

What are the basic principles of Lien ?

(I) Two or more persons cannot be
appointed against one substantive
vacant post at a time.

An employee cannot be appointed
to a post substantively, where
another person holds lien.

An employee cannot at the same
time be appointed on two or more
than two posts substantively.

(4) All of these

(2)

A3)
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126. Which principle is not regarded as

127.

128.

‘Standard of Financial Property’ ?

(1) Allowances should be a source of
profit.

(2) Expenditure as per occasion’s
demand.

(3) Vigilance in expenditure of public
money as Own money.

(4) Strict economy at every step.

The Fund as defined in Article 266 (1)
of the Constitution is

(1) Local Fund

(2) Contingency Fund

(3) Consolidated Fund of the State
(4) None of these

When the maintenance of any rentable
building is entrusted to a Civil

Department other than the P.W.D. who

129.

shall be responsible for the due
recovery of the rent thereof ?

(1) Head of Office
(2) Drawing & Disbursing Officer
(3) Head of the Department

(4) Finance Department

Which of the following statement is

true ?

(1) Duplicate Receipt can be issued if
the original one is lost.

(2) Cash balances should be verified
only once in a financial year.

(3) Duplicate keys are kept in Bank
locker.

(4) Non-Government Money shall not
be mixed with Government Money.
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131. THem &
A. T T § e g
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D. &R TR & -39 # U
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(1) A-GA 55, B-GA 56, C-GA 48,
D-GA 51

(2) A-GA 56, B-GA 55, C-GA 48,
D-GA 50

(3) A-GA 55, B-GA 56, C-GA /50,
D-GA 51 -

(4) A-GA 55, B-GA 56, C-GA 48,
D-GA 50
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Government servant (except
Educational Department) receiving
money on behalf of Government shall
issue receipt to payee in form

(1) GA 48 (2) GAS6
(3) GA 57 (4) GASS

Match the following :

A. Receipt Book of General Department

B. Receipt Book of Education
Department

C. Cash Book of Government Money
Transactions

D. Cash Book of Non-Government
Money Transactions.

A\ (1) A-GA 55, B-GA 56, C-GA 48,

132.

133.

D-GA 51

(2) A-GA 56, B-GA 55, C-GA 48,
D-GA 50

(3) A-GA 55, B-GA 56, C-GA 50,
D-GA 51

(4) A-GA 55, B-GA 56, C-GA 48,
D-GA 50

The~Financial power of the State .
Government, which have ‘not been
delegated 'to any authority, vests in
which department ?

(1) Planning Department

(2) Personnel Department

(3) Finance Department

(4) Law and Justice Department

To whom all sanctions to write-off of
losses for scrutiny in each case shall be
communicated ?

(1) Finance Department
(2) Administrative Department
(3) Head of the Department

(4) Accountant General
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A statement of claims against the
of

nature, amount of the claim either in

Government containing  details
gross or by items and includes simple
receipt is called

(1) Expenditure statement

(2) Bill

(3) Voucher

(4) Challan

All sub-vouchers for more

than
Z 1,000 shall be submitted to '

(1) Finance Department

(2) Treasury Officer

(3) Accountant General

(4) Inspection Department

When cheque or bill becomes a Voucher ?
(1)
@

Presented to the treasury for payment.

Audited by

General, Rajasthan.

the  Accountant

(3) Dully receipted & stamped “paid
& cancelled”.

(4) Audited by Internal check party.

For which amount receipts for all sums

must be stamped unless they are

exempted from stamp duty ?
(1) 5,000 and above

(2) Exceeding ¥ 5,000

(3) 10,000 and above

(4) Less than < 5,000
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138. Which document is not required for

139.

140.

pre-check of time barred claims ?

(1) A Certificate from the Treasury
Officer that on the basis of the
available records payment of the
claims has not been made before.
A Certificate from the Head of
Office that on the basis of the
available records payment of the
claims has not been made before.

(2)

(3) A Certificate from the claimant
concerned stating payment of the
claims has not been received before.
An Indemnity bond in the

~ prescribed form duly stamped and

“

executed by the claimant concerned.

As a general rule how much amount of
cheque shall not be issued unless this is
permitted under the provisions of any
law or rule having the force of law ?

(1) Less than T 100

(2) More than T 100
(3) Less than T 500
(4) More than 3500

Claims-against the'Government which
are time-barred under the provisions of
Section 3 read with the Schedule of the
Limitations Act_.' 1963 or under any
other provisions of the law relating to
limitation, ordinarily

(1) shall not be entertained.

(2) shall be entertained but must be
pre-checked before payment.

shall not be entertained without the
pre sanction of Head of Department.

3)

Limitation Act is not in force for

4)

Government transations.
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141, TaERER T TaH HE T e § .141. Provision for deduction of income
N e : tax/sales tax is given in
g 102 CEee
() TR - © (&) T 1053 (1) Rule 102 (2) Rule 105
(3) FEm104d (4 FEE103H (3) Rule 104 (4) Rule 103
142. sheEm % for § 9 oL we S 142. Who will record a certificate in the bill
W%Wﬁﬁﬁiﬁ&fmﬂﬁwm for refund that the amount Wwas
& o 2 et e T T . actually deposited in treasury and has
W Tl (L not been drawn before ?
(1) T Teae (1) Head of Office
(2) Teammemer (2) Head of the Department
(3) e e s (3) Drawing & Disbursing Officer
@) R L C il (4) Administrative Officer
143, TS SOE & AR q:sﬁw P ICEQEL 143. When an order for refund of revenue
s shall be revalidated by sanctioning
%T Tfav T—ﬁ? G:; ' s L authority ? :
M Y SN . N (1) If not paid in 3 months from the
3 Hig H T T A date of issue of order.
2) qﬁ; 3_”35' FlT{TW‘—T F1 fers | T (2) If not paid within one year from
ad o UGBS Il the date of issue of order.
(3) df% mw SH w w e (3) If not paid within 21 days from
21 &= & sy Tt el | the date of issue of order.
(@) 3R ARV SR < 5 | 6 HIE (4) If not paid within 6 months from
e T | the date of issue of order.
144, T wEEH B SEr SFEEwiE % @l ® | 144, To whom the utilization certificate to
' s B, wE ffa i fom be sent in case where the accounts of
' sl 3 %)_ the granteg-are not subject-to-Audit by
TR &R I T gt the Director Local’ Fund Audit
o3 SEteT - TR eI FI Department, Rajasthan ?
£y ST SR 2 (1) Director, Treasury and Accounts,
: : : Jaipur. '
(1) TR, P9 Ue wEl, STa (2) Finance Department, Government
B of Rajasthan, Jaipur.
2) ferai , TSI WA, ST 3 A(_:countant General, Rajasthan,
(3) TG, TG, SER @ -]Jja}pur- Local. Fund  Audit
N _ irector, ocal: Fun udi
(@) Trwren, waF iy afeReor fem, QR Department, Jaipur.
145, THX § TERAT FRE W FA A 145. ghg obligatory cogditioq fqé }:ocal
o T N S ody to recetve Grant-in-aid Irom
o foret 7e WA E Government is
(1) womer 8 AR ey @ e | (1) to open a personal deposit account
g e . in the treasury.
(2) ﬂ@ﬂﬁﬁﬁﬂaﬂﬁ%m@ﬂ | (2) to open a savings bank account in
3 the nationalized bank.
(3) TR W WAl @er | (3) to open a account in Post Office.
e i § (4) to open a account in co-operative
(4) GBIl &% H @il WerT | bank.
# ] 30 02
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146. wom  wiwer! g W wEeEd | 146, For what purpose the Head of the

fermmezrey wifte fepar ST &9 Department is declared by competent
fh ; i authority ?
2 o ! \aﬂ%m‘ (1) To make the various laws.
(2) =T v e # i Teq (2) To solvemeLaw&Orderpmblem.
3) Wmﬁﬁ@' forciia et < i & (3) To exercise of Administrative and
TS 2 Financial Powers and Delegations.
(4) TR T W e % ey (4) To control Government added bodies,
&l
147. T 3(@) % T U ool eey TreTafg 147. Who can authorise under Rule 3(b) a
AR T T | T w7 % ey subordinate gazetted officer to draw
) . bills from the treasury and disburse
TN PRI 6 [T =1 F ™ o payments ?
T T T & 2 (1) Head of the Department
(1) fesmersy (2) St (2) Head of the Office
f L (3) Finance Department
(3) fm (4) =R (4) Treasury Officer
148. wmr foxig wd orar g @ue] & R 148." Which rules are contained in General
™ fraw & Finance and Accounts Rules-Vol I ?
' (1) Rules made by Revenue Department.
(1) v feramr gwy fAffe forem (2) Essentially executive orders of the
AT 3 ST FRER ST Governor.
¥
@ . (3)..Rules. made..by...Department of
(3) =i formT gRT M frram Personnel.
B g Rt (4) Rules made by Law and Justice
4) =8 s\l &R Department:
149. T TSR S Wil = igeneT S 149. Online deposit State  Government
FHET WOTTe| Faaret & receipt accounting system is called
_ p y
(1) & 2) ey (1) e-GRAS (2) e-Deposit
3) Ry (4) ST (3) e-Tax (4) e-Payment
150. 3-GRAS ¥ 150. e-GRAS stands for
' . " 2 (1) Electronic Government Revenue
(1) Toie SRt Torer st woneh Accounting System
N (2) Electronic Government Receipt
(2) TR TR et e some Accounting System
) e THH T o (3) Electronic Government Revenue
3) g T ST Accounting Section
(4) TRIE TR uife omar SFTHTT (4) Electronic Government Receipt

Accounting Section
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